: (c)i one Yoot is &

SAMPLE QUESTION PAPER -Y
( Explanotions)

,Cot)bE‘t;L Tu.;mbeyo_f;_ou;tcome.s =6

~ total number of Lying between & and 6 =3

theyefore,

v

Probobility =« 2 = |
6

gdSiingjbvoF 68 =00 and Oc= oh

; ~ S0, H0BD and 40AC are Sosceles. A
~Now, in AROC and ABOD :

——

- OA=o08 (vadivs of civele) L\ '}'O\i’\ /

ocz o0 (v " f) \/

LpoCc= B0D (verkicol opp- L'3)
. OAOC = pBOD (SAS)

7So puf x =92
4+8b+\2=0
Sb=-16 3b=-8
Now, rrooi's of equaiion :r,"+bx+ol=o ove es:luol,:) q=1t6.,




(d) We need to convert the angle o Fadivs:

(82 3

The fovmulo fer the length of an axc

S= ¥¢©

Substituting khe given voalues
v 1%

AN YR K 2D Y¥%=3 cm.

3 oL

() Accoroding to quesbion we howve,

o?(::tho) = o0+ 32+ R

D x40 = S+

> 3x =@

> x=6

-

(o) ton 60°= bo = DE= bo = Qo043

d

DE i3
tan 3¢ = AB o AR = Ro 3% | =lo S| g
/3 {3

Now, as AD= AB+BD > 6o =R +BD > B0 =Yom.

S L




8- | (d) Thexe ave infinite points on the cincle in?’d‘qu:dvani-i
)(‘, [ 57 T N
Yo Vo :
/ |
A\ |
ok S |
e i
|
|
9. | (o) ox*+Ax+a =0 |
HevYe Ozo, besa, E=d
We know thot D= b*Yoc
P utting these values,
v
= @)- Uxaxa
= Y-Yao?
= pxo
Since +voots ave egual D=0
S Y-Yat =0 YakyDal=y o = 4
| ¥
lo-| Ce) HCF=Q, LCM= 35

product of both = HcF xLCm

AR|I8 = 2%3 546

o =4,

A9, ’
-~ - |




(d) Thus {s a h_o.i:l.onoJ. ru.unbevr It .can be - cxpxessed as o

3

which & the hatio of two inteqers expressed in the ‘

Foxm P wheve g+o0.

q'

2. | @) The quadvatic equatien qat2+3x+-é =0 can be wvritten
'n the stondavd Fovym as ax?+bat+c=o, where a=Yy ,b=3
aond c=.

The sum of the coellicients of o x and the constant

tevm s qwen by a+b+c. :

Su.bs-!utujzmg the values of a, b; md c_w“ggit.'
at+b+tc =443+ X=9.. ... . \ »

13. [(c) The gqiven equation is : 6x2_9x _ 30 .

heye oc=6 b==R ,¢==addp. Te

Discwminant 0 = b?2-Yac

= D' 4%6 % (- 220>

= 814+ 5280

= 536 - a0

‘I

Iﬁ - B}

D =S361>0, khewefove, L khe ‘Toots\wrg wonk |

- ond une&mi_




e

(b) Given eqvu.oiions ave

AX+Ry+F =0

Q¢ + ey +1Y =0

Fo¥v coincident Lines

A1 = bi = C,
Qa, bz Cl—
L= o .= F
o2 e Yy
> \ - 2 = k=4 ,
2 k :

(S- | 7, he
3

o) ! *yivolume of a .cone =

volume of cylindey = ngh.

Accoxding ko gueation.

T =2 & h =Y
S

- e = he

So, vaklo = Volume of cone
Volume of cyUnder

Y9 w4 3 |16 :135,

S

= Var 3)'xy = )
A 3 3

q




6. | (0> The

sum of the voots of the equation is
yven b;]
at+b4c =k
]
abc = n _ n
|
Now , ‘ x| £ | = b+c+a
co ab bc obc
= k.
n

1%+ [ (d) PO = R RXPO {Distonce bl tweo porallel ents is

equol to the diumete_v?g

=locm / \ ”

/
=1

— e N7
18-

(d) Fyom +the distance Fowmula, we have

= ﬁ&o)"_‘,c.é—o)‘ =—~/Z'1'f€6 = \}loo

= |lo units .

&80,
-~ -




90 [&> Awssertion (A) s true but Reoson (R is False.
Since _the pvoduckt of zevoces ic |0 = lo
)
For ax®+ bx?+cx+d , pyoduct of voots = — 4
N
2o- | (D Asseviion CR) &8 tyue but Reoson (R) is False.
An integer is a vaktional numbev, 30 the assextion is
kvve . Wheveas oot of any fnteger can't be aaid as
ivyotional .
I main A+ncosA = p ——O

(msinA+ncosA) = p2  (aquaring both sides).

- m?8IN2A + n2cos’ A +2mnsinA-cosA = p? &

(mcos A- nsinAY = q2

L

‘M%cos’A + N?8iN2A — 2 mn cosA-SinA = q bt (6]

_Adding @ ond @

mt (‘_smzﬂ-p-coszﬂ) +n?(Csin2Aa +cos’A) +0 = P+q2

m?+n? = p24q2  Hence pvoved.

|
8 |
-




22 X2+ 6x+6=0 = x*42x+3x+6 =0
oc(x+)+3(x+3) =0
(x+2) (x+3) =0
€ = =y, ~8
¥=-2,8=-3
¥tB=—-b = -kXR-3=-S 353-6 =-5
- W s . !
SRl odn D lBie Bl s bsl,
a |
<3 Given , | ; 4N . a
In AARABC, O is midpoint of AB and OE ‘ /\
is povallel to BC- _ ey D/ \E
AD=DB.

To pwoove ! AE = EC

Paoof : Since, DEII BC

P
\\_

g By B oasic ‘p"(OpO'X ﬂonod.lb‘.'L the'O'Yeml\

AD = _AE

: 08 EC

S RAD=pB, Thevefove, RE | &5 AE=EC.

|

d9)
- -




e

i e il .

P.O,g and S arve points where circle touches the

4. (o] et
sides AB, BC, cD and DA wvespectively.
Thevefove,
AB+CD = BC+ AD [
. 6+8 = 9+ AD N a5

14y = 9+ap \/" \/
AD = 14-9 A Za
AD = 5 %\%/‘%

Length of AD is Scm

Given that cosec (8) = zec (60>

<5.
and we know thak sec(o) = | & cosece =— |
Cos (6> Ain®
we can wrtte this os,
: | c= Areyod |
&in© cos (60%)
- b (
| Since, cos (60°) = | we have | = 2 D a&ne = |
2 2N ~2
| ! Since 6 Ly o positi.vc acute o.nﬂle,omd en the (iask
clu_ag_d*ront 23in2(0)-] ot ©=30°
[ D 28in2(30d-1 = -1 =0
r%—A e —

_ So, the value of & sin?(8) -! is O.




Rb-(b) In OAABC we have c
Ll pg
AL _ = BM [By thales Theovem]: L/ \M
L ' o
35 AL - 8™ / \
_Ac-m_ 8C-eM —_y / \
w X5 R k. ", \e
2t - (x-3) (243D —(x-2D ' - )
S X3 = X-
x+3 TS
3 (2-3)(XAS) = (-2 (X+3D.
> xXx242x-15 = xHx-6
5 oc=9.
Q7.(b)| ton A= ntonB D tonB = | fanA D cotb= n
n tanA
4inA = MsinB S 3inB =

AiNA D cosec® = ™M
24

In

sinA'

subatituting the values of cot B and cosec B.
cosec?B — cot*BR =|

),
-~ -



e L

We qet,
J

5 m? - n* = |
Ain?A koan?A

"—> m< = n2 = |
Ain?2 A tan?A

= Mm2-ntcos?A = |

2in%A

D m?2- n2costA = 3In2A

D m2-n?%cos*A = |- cos’A

> m*-l=n2cos?A - cos*A

) m2-1 = cos*A (n*1)

5 ™M) _ cos’A.

n*—|




e e N B e e

¥ 8-

et p(x) = o242

and Q) = x%kx -9

Let’s suppose, h(x) = (x-k) be HCF of p( ond q (=D

Now, p(x) = xx%raxc-12

1

= 24 Yx-3x—12

= 2e(x+yd)—3(x+4).

= (>x+4)(x-3)

\

So, efthey k=-Y or ke =3 . . . . .

Since , (x-k) is HcF.

q () = (x-k) 9Cx) For dome factowr g(acd of (=] -

|

Ta.kc x=k

> 2(k)- kxk-9=0

> eP-k*-9=o0

3 k=9 = kt?3

Fvom () we get

= 3.




Q9.

Given, ¥= 3.5 cm, h=locm

TS'A of the article = QA% csh of the hemisphevical part .

4+ csSA _of the cylind;'rical pQ’lfL-

= AXIAYT+ 2ATh

lez A Rai(r+h) |

= AN WY %3S (AA£3:5. +10)
7 .

= 23 3-S5 (F+lo)
3 .

T L Rk!

= 3Hy ot

Thus , the total suvface awea of khe axticle is
3FY em?s \




30.

To prooves RAE = AC™ . CE i

8F BD FD

Pvoof : Tn O AEP ond ABFPFP, :

2l m (Given)

Ll =1l2 g (3=(4 [Alternate intevior angle] |

X
\l/

/‘(Q" |
& ~n D 3

. AAEP~ ppFP, [By AA similavity]

\

AE = AP - EP - —. (D

BF 8P FP

-

In OCEP & DDEP, L1t m(Glven)

/9 =08 & (5=1L6 (Altevnoe inteviovangls] |

s DCEPA ADFP [Q\j AR similarity]1 D CE _cP _EP ___(D)
» OF DP FP

In OAcCP ond ABDP {n m (Given)

2y =(2') i d5 =Lk [Alteynate intevior cmalesj

.. DL ACP ~ ABDP (By AR similayity’)

B . AP = P . - oo . (i)

—

8D BP DP

Fvom iy ,01Y and @iy

AP = AC = CP = cCcE - EP = AE A AC = PE - cE

Pe 8D bP DF FpP BE 8D BF DOF




e R R —— — et
— — ———d T T CadB s Vet R = - c——m—

31.

Given,

LoAB= /oBA= 30° [0A=0B=vyodius]

We knew thal,

Lopp = L 0BP = Q0" (Tangents]

= [OAB + [BAP = q0°

) 30 + LBgAP = 9o’

D (BAP= é0°

SimiLaa’lH;
[/

LOBA+ (RrBP = 90°

S 30°4 ¢ABP = 9o°

2 (LABP = 60°

In AABP

LBAP+ LABP+ LAPB =180°

> 60’4+ 60°+LAPB = |BO°

3 (LAPB =[8o-120°

T 60°

Hence (APB = 60°

88
-—~-




39- (b)

Length of palrike Workd = odius of bhe elmek;

PRodius () of the civwle =14 cm (Given)

Angle swept by minute hand n 60 minutes =360°
Ly :
So, the ongle swept by the minute hond in

S minute = 360° ¥5 = 30°

60°

We know,

s AY?2

Avea of &ectoy = 6
' - 360

Now oveo. of kthe sector rnon.ku‘rig_om ongle of 3;.

:,30; X @22 RNI19NY

. 360° F , o B

= ] xRQ2%2Y\Y

1< S

— 1S4 ecm?,

3 N - - _—

Hence , the vequived ovea awept by the minuke hand

in 6 ruivaikex js 154 em?.

3 a B e e —




M oavks E cif.
Qo-3o0 P . P
30-Yo 1S 15+ P
Yo-So . @5 Yo+pP
So- 6o 20 6o+p
bo-Fo | 4 GotPtq
7o-80 8 68+P+a
©0-90 | |o F8+p+q

e oave qwen meduon = 60

Thus aum of oll the f[weguencies —ﬂo

| ,;—ZP"‘"S*‘QQ'{—QO-P%—PG-}J0,78+P+cl=__c70

o 2 P+9 =12
| Also,
B { . median = L4 (X/a-cF) yh
- ) F
|l 5e = Yo+ (45- (154P)) %10 95 =30-p

25

- & - =—'—5 oy p=5,hevre p+rqQ=123q9 =12-p > q=7%
)| [— B « s P=5 ,q‘;?

_Vmode occuss In ('-10—50) os 2S is lu‘ﬂke.st F‘rcq_uency, mode= o+ o=’ .

¥q5-15-29




34 (o

let the father's age be o¢ ond son'a age be gy

By LI condiktion:
3'\'%[ =X

B:, T condukion :

xX+3 = CY+3)+lo

So Finoal & equations awe

WeByg SRS Lave » MY 40
'.x—s‘g;) =8 s x b sl IRy
dy =di

=y =-le =h =l

Substituting y=lo {n (1)

d
x- (3%X10) =3

- X —30 = 3
x = 3430
D oz 33

Solving these equokions we get,
d l J

y=1lo & x =33

So, the Ffoathers pvesent age S 33y%. and thok of

the son is lo yvs.

(2
-_— -




Jocks ond Bueens of black colouvr awxe

Yemovead = & each is vemoved = Y caxds.

kinga and Rces of ved coloury axve wvemoved.
U

> & each cavd of (king& Rce) yemoved =Y coxrds.

@ A black kinl;

~ Total numbexy of black king = & .

and +total cavyds ave 5«-0 =4yy.

P ( black kina) =L e |

49 22

| b)Y A wed colouwr coxd:

| No. of ved colouy cavyd= 26-4 = 249 .

| P(ved covd) = &2 = |

\ b 9y 2
) No-of block colouwved jocks in a deck = p
Plolack joack) = © _ o
( 4y

@) MNo-©of foce cavds in the deck = |2-6=¢

P (Foce cavd) = ¢ a

2

a2




36.

) Money saved on T dcuq = Ps.Q2%-5 | )
Sehq,; incveases 'his Ao.vnnqs b\-) a fFixed ‘amount of

Bs. -25

.- His sowing fvom on AP wiih.a:»Z‘,'\.-S ‘and d=- &5
(Y
Money sowed on lot day .

QLp= A49d =35 +9(2-5> |
= 3.5 +232.6 -

= PRa.So

ai) MoneL,souJed on T dd—\j g 2Q3-5

money saved on 25t do.x., : boa e 38

whevye a=-«d7:-5 and d'eiS

Oyg = Atd4d o>

= 935+ (R-5) = Rs a7-5

(i) Total amount saved by Sehaj in 30 doys

Pg B

S30:= 30 [oz><~2‘4-s +_c;3—|$—y.z-~s‘|\

2 ETY ' et

= 16[ss+.zq(.z S)] 1912-5 .




oy Llet i) be Cab) then

mid- point of AC = midpoint of BD

(Hé G REN = [Y+a , 34b)
o2 2 3 4

2 2
e. 44+ =F 5 =3

34b =8 5 b=5

centyol midfieldey ia ok (3,5)

GiY GH=J3-374¢6-N2 = J36M 8 s=.J62 =2

IEY

iy

k= Jeowsys(zsy = Ja+y = i3

RS E:%'D)z-\—(\—?:)2 = ﬁ-}-\-p P
Gr+HKk = GH

> G6G,H oand kK Lie on o some pivoight Line.

r, = = B
P'B ond E

is equidistant fyem A ond E.

Lie on the same’ 'stvaish'{:

*Line qnd R

> B i the mid-point of RAE
. ( l+q P '1+b\»=7g(-2,—-3) "
; ) %

2
E BSs=ie]




¢y In OABC ; A

ton 60° =2
L

3 =x = o= 3L ----- ¢id //
= Pl
Now (= Yo metves // Pole

Fyom eg.d) X= {3L= Yo 3 =69 28 metves /

ii> oR, Dlstonce fvom Fovmey ok positlon EomAC Squese |

D ond top of pol& iS AD.Hence 1n ARABC L Feld |
cos 30" =DB =5 AD=DR SAD=12c = =2"Ho
AD 32
cos3c - ['3‘
AD = 138:-56 m.
(Tl!) In OPBC ; kan 60°= ¢ o xX= @L S T (1 i
2
in ARBD ,ton30® = ¢ = > | = 34 ( Frorm =9.G) D
8otl . A3 . Qo+l

> Q0+ L=3L>a2=8034=Yo

Thaua Lmﬂ'l:h of the Field is Ho metwes.




